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Instructions:

() A bwre fermd. Tout type de caloulatrices anfnrise,
Closed hook. All types of calenlators are allowed,
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(b Reépondre sur le questionneire. Réponscs numérgues dans les boites.
Answer an the question sheets. Fill-in boxes with numerical answers,

(c) Les 6 guestions sont d'dgule valeur.
All 6 questions have the same wmlne.
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VA Domner e gefol! de vos colouds,
Show all computation.
() Une feuille coulanr de tabley sera distribude.

A one-page Lable on colored paper will be distribused,
(£} Tous les angles sont en RADIANS. Tester et ajuster votre calewlatries.
All angles are in HADIAN measures. Tesl znd adiust your calenlators,

2in 1.123436789 = (.901601 12464453

L ¢quation différentielle homogéne du 1er ordre,
The first order homogeneous differential equation,

Mz, y) de — Nz, y) dy = 0,

admet un facteur 4'intdgration
adinits an integrating lactor
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Qu. 1. Trowver un facteur dmtéoration, rendre ['Squation drfférentielle ezacte ot résour

e probleme 6 veleur initiale,
Find an intesration factor, make the differential couation exact and solve the inilizl value

problem,

By + 2y + o de + (224 ) dy =0, y(1) =2.
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Qu. 2. Réseudie le probléme ¢ valeur inatinle,

Solve the initial value problem.
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Qu. 3. Aésoudre le problime wur valeurs mitinles.

Solve Lhe initial value problem.
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Qu. 4. Résoudre le probiéme aur valeurs nitinies

Solve the initial value prablem.
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Qu. 5. Trowver les trajectoires orthogonales de lo famille de courbes donnée ef fracer quelgurs
courbes des deux famulies sur le méme repére.

Find the orthogoual trajectories of the given family of curves and plot a few curves frow
both families on the same system of axes.
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Qu. 6. Compléter ic tableau pour la récurrence de pomid fire

Fill the boxes for the fixed point iterasion:
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Accéléver la convergenee par la méthods dAithen,

Accelerate the convergence by the Aitken DIOCESS,
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Accdldrmr ln convergence por o méthode dr Ste Hensen

Accelerate the convergence by Uhe Stefenscen Drocess,
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